= fo—o s = 685 Polynomien yksinkertaistaminen

Nimi: Paivamaara: Pisteet:
3(3x3 + 7x) — S5x% — 6x° — 5x° T+ dx — 3(8x+ 5x2) + 4x
¥ = 3x—8x+x—5x° 4x—6x+2x+2(4x+3x2)
x+x =2 + 3(9x — 9x2) T+ 66 — T+ 4x + 5x%°
3+ Tx— 2% — 32 + 8x9) 8x+ 2 + 2% + 5¢° — 4x?
e+ 3+ 5+ 2(x + 5x) Sx+ 7% + dx + 4(x2 + 5x3)
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Tl s s =, A

Polynomien yksinkertaistaminen

Nimi:

3(3x° + Tx) — 5x% — 6x° — 5x2
33 — 1002 + 21x

¥ —3x— 8+ x—5x¢°
—4x> — 10x

x+x0 =20+ 39— 9x2)
—x> — 27% + 28x

3+ Tx— 20 — 3(2%° + 8x)
—5x° — 24x% + Tx

72+ X3+ 5 + 2(x + 5%)
X+ 122 + 12x

Paivamaara: Pisteet:

7% + 4x — 3(8x + 5x°) + 4x
—8x% — 16x

4x — 6x + 2x + 2(4x + 3x?)
6> + 8x

T2 + 6xXF — Tx + 4x° + 5x°
O + 13x% — Tx

8x + 2x° + 2% + 5x° — dx?
T — 27 + 8x

Sx+ 7% + dx + 4(x2 + 5x3)
27 + 4% + 9x
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